War m-up. ACT Question of the Day

1) x%+ 9 2 x°+ 6x* ‘
4. Given f=cd", f=450, and d = 10, what is ¢ ?

F. 0.45
G. 45

¢ 2 9 H. 15

3) x*+4x + 4 F&C{MS"M 4) 2x* - 50 ] 45

(D) K. 150
e 2
5 x3+8
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Unit 1 ~ Rationals & Radicals

Objective: A.APR.6
| 1) Factor the numerator &
denominator.
2) Cancel common factors.
3) Find restrictions.
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Simplify: 5x’y
. 15xy’
i q%a 5. %(; ng -
’é—f—a“ﬁ;’/l 5.3 LY - —]53/)»3’3[3’”%
L. _JL AR
3T 3
y#£0 State any restrictions. Y7 ©
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Your Turn:
Slmphfy X+ 7Tx+10 FAAXKE) Slmpllfy x? +2x - 8 W
num Denom X - 3x - 10 (XTRIX-5) Denon, X TX2-Bx 46  Genx—2)
T, P i
5 P 2]
X5
pachs oL

X-5=0
+5 t5
X =5 y:B

State any restrictions. X735 State any restrictions. x7 3
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Example 3:

S|mp||fy, 2x*-3x-2 _(ax X - )
W 2x*-8 AXFOLHKRD

B - qXXJ’X -2) @ = o%+ |

)f\_/'\—""

AX[(X - - Hlx =4 >3 (K>

IX-3) ol B
1( 2 Jroﬂ) (5 93«:99*
HETENIES a &
State any restrictions. X7
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\v Lesson Check
Do you know HOW?

Simplify each rational expression. State any restrictions
on the variables.

4z — 12 3x — 3
1'8zf1'24 2'\ —x
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Sumpllfy (49 - 2% (20
4o +27. 2 ;LM z+7 %ﬁq
—2.+7 2t _ _Z_ =

State any restrictions. None
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